[ > with(inttrans);
[addtable, fourier, fouriercos, fouriersin, hankel, hilbert, invfourier, invhilbert, invlaplace,

L invmellin, laplace, mellin, savetable]
[>u = t -> sum((-1)™n*Heaviside(t - n*Pi), n=0..13);
13
u:=t— ) (-1)" Heaviside(t - n )
n=0
> plot( u(t), t=0..35, discont=true);
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> v := t-> sum(Heaviside(t - n*Pi),n=0..13);




13

Vi=to Z Heaviside(t—n nt)
n=0

[ > plot(u(t)-cos(t)*v(t),t=0..35);
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"> laplace( u(t), t, s);
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> u = t -> sum((-1)"n*Heaviside(t - n*Pi), n=0..infinity);




U:=t— Y, (-1)" Heaviside(t —n )

(> laplace( u(t), t, s); "
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[ > invlaplace(%,s,t);
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[ > convert( sin(t-Pi)*(Heaviside(t-Pi)-Heaviside(t-2*P1)) ,
piecewise);
0 t<m
undefined t=m
—sin(t) t<2m
undefined t=2n
0 2n<t



